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Candidates who have NOT submitted an assessed essay should answer THREE questions.

Time allowed:  3 hours

Candidates who have submitted an assessed essay should answer TWO questions.

Time allowed:  2 hours

Read carefully the instructions on your answerbook and make sure that the particulars required are entered on each answerbook.

________________________________________________________________________________________________________________________________________________
 1
 
Did the mortality decline in Britain occur as a straightforward consequence of economic development?

________________________________________________________________________

 2 
To what extent was the fertility decline in Britain in the late nineteenth and early twentieth centuries the result of children’s changing position within the family and society? 
________________________________________________________________________

 3 
  Discuss how the influence of nuptiality on population change in Britain has varied since the seventeenth century. 
________________________________________________________________________

 4 
 Are cohabitation and staying single still deviant choices, or is cohabitation increasingly similar to marriage? 
________________________________________________________________________

 5 
 
Are the assumed consequences of heterogamy consistent with the various different explanations of homogamy?
________________________________________________________________________

 6 

Are the decisions made by women in contemporary Britain as to how many children to have and when to have them influenced as much by economic factors as they are by cultural factors?
________________________________________________________________________
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________________________________________________________________________

 7 

To what extent can the ‘problem’ of teenage pregnancy in contemporary Britain be resolved by facilitating effective contraceptive behaviour?
________________________________________________________________________

 8 
Have marriage and the family in Britain changed as much in recent years as is implied by media discussions and the work of some academic authors?
________________________________________________________________________

 9 

To what extent has the ‘medicalisation’ of marriage led to a greater degree of intervention into marriage and the family?
________________________________________________________________________

10 
Is there typically more than one reason why a particular marriage or cohabitation ends in separation or divorce?
________________________________________________________________________

11 

Do formerly married people usually experience economic, cultural and social marginality?
________________________________________________________________________

12 
How important are the distinctive features of stepfamilies to experiences of stepfamily life?

________________________________________________________________________

13 

In contemporary Britain, do people with different characteristics migrate internally for different reasons?
________________________________________________________________________

14 

Is an understanding of historical demographic change in developed countries  relevant to the analysis of changing mortality and fertility patterns in contemporary less-developed countries?
________________________________________________________________________

15 

Does the failure of a national population policy imply a need for coercion?
________________________________________________________________________

16 

Is it a realistic aim for policy-makers in contemporary Britain to attempt to reduce mortality from suicide and lung cancer?
________________________________________________________________________

17 

How relevant is the diversity of older people to the implications of Britain’s ageing population for policy-makers?
________________________________________________________________________
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